2792 YUY Jnun 11y ’: b’ ’: @

: (BAS) nyawRa n1nTam/moeen nINg

L2177 23¥71% MY 079 791K 1302 MAN SV panhh nnwRa 7ove7a -

0w 5 MODE %y vy -

AUT 71177, BAS »nnnmy SET qon v -

001A w9711 73%5vn? yr oy axonh , OFF vnnnay P01 qon avoom -
(200A :XnNT2)M22 1PN 1"IWna YW NWRIT TV 9100 7Y 20X Cwpn oy 170

T"IWn WA Y 7w T SA ronnm - P.02 qon nyowy AUT yno -
(oxnnnya 1A 5 5A 12 mab qwoR)

5717 N2 ,1" W 2w AIRD IR Y TAT° w0 - P.03 Ton nvoovay AUT panoh -
(011n vvWwa md) L3 naman

. AUT 301 %7 na, 1"wwna nraop - P.04 qon nysom AUT pin?s -

INPUT VOLTAGE 1p273 x0pw oonnnan - P.05 qon nvoway AUT yinoh -
(011 WY arnma) L1-L2 97 9700 002

W (WD 2wneT 9ap PTIA AXN) 99317 7 - P.06 Jon nyov AUT yan?h -
37 NR 77377 72 99317 70 A1 77W) KVAR 21307 7% 19 20%0m2 71930
( 777 N2 ®AT AxY P.11-P.18 2°%2p0 P12 Yw o2hapa

400V 572 n7°12,0°1pnna 2°apa nnn 7w - P07 Jon nyovm AUT yn> -
2192 @XM PATYA 910 10

AUT 971 n7°72,nw02 200130 7700 7w - P08 qon avoway AUT yinoh -
AR 7R foh!

,0°72p1 MWD PINCA/APyont onon 1At T - P.09 Ton nyom AUT pinvh -
1w 60 70 p2

253 P27 T2 MR TWAW 933 pIy/ahve mwad - P10 qon vy AUT pin> -
1w 60 7730 272 17772, 78NN 2°72R0 DW ARCEY/10%10 MDY NPYIRA

NR 777 °70 P.06 1303 M2y 99107 7w — P.11-18 oooon oovovm AUT yinoh -
VAW ROW 0171 757 MDD NIPXRND 1912 191) 0°72p17 2122 10m7 93 MY 9apn D7
(v oR ap oty
w1 R7>- OFF)
9o 7w - 32...1
.172va 70 - ON
YOI ROWHD IRINIW 287 932 7301 007 ,MND 2872 78NT - NOA
NP9 ROIWPD ARINAY 2¥7 722 1IN91 70100 ,MA0 2312 RN - NCA
JF2IRN MR DOV 97an - FAN
. MAN 2xn2 7301 70nn - MAN
. AUT 2372 730170nn - AUT
(9% M%pN% oRNA 7301 YoM - A01....A13

0.95 731 971 N2 COS PHI 7w 7w 70 - P19 o nvvoym AUT s -

SPWIanT pwian now nTaT - P20 qon nvovay AUT yinoe -

Tt SAVE S o ay 91937 , BAS vannay SET qon% 2 2wy AUT pinyh -
721w9% 272 wonm AUT

72122 AUT 2w 7In2% w2 1991 217 2190 70 910 o931 7000 2w 199 DRaw 732 -
121997 1911 P2 UPILIRD N2V? 97D 791X



s} e

MAN/AUT v 73079R 73°77 0"V °17° 2312 1297 0 70 MO0 MNTATN0IDA Ny e
n7a772 SET % 10101 MODE 59 10 5 772178 7317 181,217 91170 7° 910 o1
QTP TINYR NIMIRIT MR HY 20NN 79m1) Mo

1w 5 MODE 5y yanb w° 17%°7 MNTAT? PWana DR ANR? 70 e
AUT 111571 CMD % 199w v "y 91932, BAS nnn»y SET Jon voo1n
NI 3 7%vn° v oy yanoe , C.07 qon v AUT yin?h v, C.01 707 vo0mn
a0 AUT 1302 59 mxon? 3,773 MATaa? 2imx wanm OK nymit vom
SIWRIY/PWRD 7010

:NIN2T MWD DR YEA? W 517 19182 22930 DO DR 71720 070 e

L2170 2379 MY 070 191K 1312 MAN Sy b v -

qonRnaw vawe , MOD wpn Yy yanoh 181277270 1 'on 2°922p 2121 N0N YR PIneo v -
.1 'on @92 212 5w 1R 1IN0 YOOI 0N 2°72p VAT DR YD NA0]

M2 IMIR DR YX29 2 'on 0°%2p P13% M2 NNNN Y yine? -

79 MO INIR DR YX2Y W7 017 1912 77YY 293P0 212 92 DX 10107 NN -
.(on2 w1 XD 0°%2577 12 5110w T2) ATV DNIR ROXITY

- AUT %9 7079 72019 "V SUmInIR 2377 17 mOW? RY 72°727 DR 112200 INRY -

:(P.11-18 299°p0 M2y) 2993077 P12 NITAT N2y NBRAT

, KVAR 5,7.5,10,10, 15,20 :2°X272°27w2 2»3p 6 2°22p MmY2 1730
33w 217 K?) 2.5 KVAR 1nnnTh — jop 37 °0n19°n 22p 77w 771 99017 - P.06
(M22 Dorpnnw 190 7P

STIRQT M0 007 70 1T (2°nPWw 1901 ) 99157 007w — P11 -P.18

P.11 2 2°x3w 591577 77w e P.06 7w °pon (KVAR 5) 92p7 57i
P.11=2 5/2.5=2
P.12 2 2°x3w 591377 7w e P.06 7w °pon (KVAR 7.5) 92p7 57i
P.12=3 7.5/2.5=3
P.13 2 23w 99100 7w e P.06 7w op%n (KVAR 10) %2p0 973
P.13=4 10/2.5=4
P.14 2 233w 99100 7w e P.06 7w op%n (KVAR 10) %2pn 973
P.14=4 10/2.5=4
P.15 2 23w 99100 7w e P.06 7w opon (KVAR 15) 52apn 973
P.15=6 15/2.5=6
P.16 2 233w 99100 7w mnw P.06 7w op%n ( KVAR 20) 52p0 973
P.16=8 20/2.5=8
[(P11-P18 7°y02 v19%3 NAR 77027 71 0101 777 sk 1o n W) OFF= P.17
[(P11-P18 7°y02 v9m3 NINR 77027 71 0101 2707 ok 1o n W) OFF= P.18
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WIRING DIAGRAMS

WARNING!
Disconnect the line and the supply when servicing on terminals.

Three-phase standard wiring
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K1 K2 K5
THREE-PHASE STANDARD GONNECTION (default)
Default wiring ¢ for standard
Voltage measure 1 ph-to-ph voltage reading L1-L2
Current measure L3 phase
Phase angle offset Between V (L1-L2 ) and | (L3) = 90°
Capacitor overload current measure 1 reading calculated on L1-L2
Parameter setting P03 =L3
PO5=11-12
P24 =3PH
NOTES
— For three-phase connection, the voltage input must be connected phase to phase; the current i must be d on the ining phase
i ~ The polarity of the currentivoltage input s irrelevant.
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